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GENERAL STUDIES
Paper I
Lienes -3 Hours | [ Maximum Marks : 300
INSTRUCTIONS
\ Each question is printed both in English and in Kannada.

Answers must be written in the medium specified ( English or
Kannada } in the Admission Ticket issued to you, which must be
stated clearly on the cover of the answer-book in the space
provided for this purpose. No credit will be given for the answers
written in a medium other than that specified in the Admission

Ticket.
Candidates should attempt questions from all Sections.

The number of marks carried by each question is indicated at the
& end of the question.

The length of the answers should not, as far as possible, exceed

the specification given at the end of each question.

odex gordd : B Thepod RRURNY BB CRTOSONR;, & B3, Do dadod RTE,
TDORETNG.
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SECTION ~ A

Note Answer the following questions in about 200 words each.

it Each question carries 20 marks.

1.  Criticaliy analyse the role played by Karnataka in the Freedom struggle of india. 20
OR ¢
Write a note on the cultural progress in modern Karnataka.
2.  Bring out the implications of the US war against terror in South Asia. 20
OR

Critically evaluate how India is trying to deal with the Pukistan sponsored cross-
bordér terrorism since December 2001.

3.  Answer any two of the following in about 100 words each : 2x 10 =20
(@) Write about Belur Temple.
(b) Bring out the historical significance of the Fourth Anglo-Mysore War.
{c) Explain the services rendered by Sir M. Visveswaraya as Dewan of Mysore.
4.  Answer any two of the following in about 100 words each : 2x10=20
{a} Explain the Panchsbeela Principle.
(b} Describe the paintings of Ajanta Caves.
(e} Write a briel note on Union Territories.
5.  Write short notes on any four of the following : 4x5=20
{a} Electronic voting machine
(b) Non-aligned movement
{¢)  Round Table Conference
(@i Abdul Kalam
{e) Attorney General of India

i G.M.C. Balayogi.
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SECTION - B
Note: i) Answer the following questions in about 200 words each.
iiy Each question carries 20 marks.

&. Explain the strategy of development through decentralization with reference to
Karnataka. 20

OR
Highlight the main features of EXIM Policy of 2001-2002.

7. Describe the consequences of disinvestment of government owned enterprises, 20
OR
Give a latest status report on Kaveri water dispute between Tamil Nadu and
Kamataka.
8.  Describe the impact of globalization in India. 20
' OR
Account for emergence of Bangalore as the premier software development centre in
India.
a.  Describe the factors that led to ‘Narmada Bachao Andolan’. 20

OR
Give an account of assassination of Royal Family in Nepal.
10. Write short notes on any four of the following : 4 x5=20
(a) Sydney Olympics
(b} Asia’s performance in World Cup Football, 2002
{¢) India’s achievement in Intermational Lawn Tennis
(d} Contribution of Karnataka to the Indian Cricket
{e) Decline of Indian’s performance in International Hockey
(f Maich fixing.

11. Write short notes on any four of the following : 4x5=20
(a3 U.R. Rao
(b) Aristotle

(¢) Dr. Homi Bhabha
(d} Amartya Sen

(e) Naipaul

(i B, D. Jatti.
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SECTION ~ C

Answer auy s of the following :

{a)

The sales of a TV Manufacturing Company are given below !

2 x 10 =20

Month Last Year This Year
January 100 98
February 104 103
March 105 104
April 109 107
May 109 108
June 110 110
July 111 110
August 111 111
September 112 111
QOctober 114 112
November 115 120
December 120 126

Average 110 110

From the above data, A concluded, I am worried. In each of the first ten
months this year, the sales have been lower than the correspending months
last year. The increase in the last two months is fortuitous.”
B concluded. “I am happy. In both the years, sales have steadly risen between
January and December : this year even more than the last year.”
¢ concluded, *1 do not bother the average performance. This year is no worse
than last year.”
What do you conclude and why ?

(b) Represent the following data showing the value of exports and imports { in
crores of rupees } by a graph :

Year 19756 | 1080 | 1985 | 1980 | 1995 | 2000
Exports : 26 32 35 47 52 57
Imports : 35 40 48 50 50 52

Assuming the rate of growth of imports as well as exports to be uniform
during each five year period, find out the year afier which the balance of trade
became favourable.
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Somed B e TI B S
eRate 100 98
FeH0 104 103
EASEES. i 105 104
DHO* 109 107
e 109 108
RRE’ 110 110
20e, 111 110
Siavol 111 111
23 0200 112 111
CLIISAle 114 112
gdcot 115 120
LaRoLaot 120 126

rerire 110 110

TROD) BYE INET TRTIS, Bo2002303 gad: ol 2ndon QUR &orY IRTNWIT
Gt o) e382, 83000 AGFDATED.

B o3, ‘M XodeeXzmhd fd. 85 208 TEFNYLR, RET0 &3, Brownst Swd
IRoWEY DEZMOTA BUD FI;, B TTHFFp AT 90 THe3,08 YD 20w
NEEDATRL.

¢ C o3, ‘TR XVED SSFERA H0sx0m0e, B SN 95 SRFS,08 Lemmmny’ S
TEDATRL.

Qe WIF IFEORDO Ty, &8 2

" (b} 82 Surt RedATET OIRT W3, HSRFING ol (4ot SamRRAYE ) T, 0BNYT,
2,000 Moy ZDRLE LRA!
& 1975 1980 1985 1990 1995 2000
eoins 26 32 35 47 52 57
QT 35 40 48 50 50 52
n RS T, BERINY 50 Q030 VW TREAY sTHORY, DEXTRTTor TONKR,
e TOBOT 70, T0E) BLHAVECTIT ToB0R SRFT;, S0,
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{c) The statistics available with the police authorities about the state of crime in

an important city in India were as follows -

Year

Crimes 1997 1998 1999 2000
Dacoities 8 39 50 23
Murders 110 102 105 119
Attempted Murders 150 114 196 167
Robberies 409 178 372 202
Riots 155 70 185 104
Snatching 199 141 197 112
Burglaries 2168 1458 1749 1532

The police authorities claim that crimes have come down in 2000 and the law

and order position in the city is showing definite sign of improvement.
Analyse the above data and state your comments.
13. Answer any two of the following : 2x 10 =120

(a) Life expectancy of a region at various ages for the three consecutive decades

are given below for male & female :

Life Expectancy at various stages

Age of 1st decade 2nd decade 3rd decade
Persons Male Female Male Female Male Female
0 325 317 419 40-6 40-4 44-7
10 40-0 39.5 45.2 43-8 488 47.7
20 33.0 32-9 370 35-8 411 399
30 266 26-2 29.0 27-9 333 32.0
40 20.5 211 22.1 22-4 259 254
50 14.9 16-2 16-5 17:5 19-2 19-7 |
60 10:1 11.3 11-8 13:0 13-6 13-8
!

Examine the trend of the increase in life expectancy of the people at various j

stages. Give conclusions on comparitive longevity of males and females.
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Bretned 110 102 105 119
Batnie: SRdE BB, 150 114 196 167
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2 x 10 =20

Lor [eBn Fat FRRINI HEEng QOr GaENINAY ReTEeEd el R o

sd.n¢ 17 ==¥ 28 s 33 noE
Sobzy omdcs | morides | domuey | @onmed | redze | &onued
0 32.5 31.7 419 40-6 40-4 44-7
10 40.0 39.5 452 43.8 48-8 477
20 33.0 329 37.0 35.8 41-1 39-9
30 26-6 26.2 29.0 27.9 33.3 32.0
40 20-5 211 22-1 22.4 25.9 25.4
50 14.9 16-2 16-5 17.5 19.2 19.7
60 10-1 11-3 118 13.0 13-6 13.8

e,

SO BOINYE, WAT BeTTAL n0eg Hobd), B8 T80T ToOdeSR. MOBXRT:
TZa, BorxT Boewmed, 8 OEHF I Foedd Tz, 0N Ry, 8R0.
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(b) The following is a report on the accidents given by the Southern Railways :

The total number of accidents in Southern Railway in 1980 was 3,500. It
decreased by 300 in 1981 and further decreased by 400 in 1982. The total
number of accidents in the metre-gauge section was 245 in 1980, 346 in
1981 and 428 in 1982. In the metre-gauge section “not compensated cases”
were 59. 77 and 108 for 1980, 1981 and 1982 respectively. “Compensated
cases” in the broad-gauge section were 2867, 2687 and 2152 respectively for
the three years.
Prepare a complete table from the above report.

{c) The following table shows the marks obtained by three students A, Band Cin
an examination :

Maximum marks in each subject
800 700 900 600 1000
Students 8, S, S, S, S,
A 560 553 549 540 500
B 480 420 540 360 600
C 424 427 423 426 420

Determine which student have shown :
@) most consistent performance and
(i) most inconsistent performance.
14. Answer any four of the following : 4x5=20

(@ In an Assembly election out of one hundred seats 52 was won by party A. 26
by party B and 22 by party C. But out of total number of valid votes these
parties secured 46%, 26% and 28% of votes respectively. How do you explain
this phenomenon ?

{b) In a class of 50 students the average marks obtained by them in a test were
40. Pass marks were 30. The average marks of the successful students were
45 and those of the failed ones were 20. What percentage of students failed ?

() A manager wants to know the number of workers receiving wages between
Rs. 2,200 and Rs. 5,800 from the information given below, supplied by his

office :
Wa
ges 0-10 | 10-20 | 20-30 30-40 | 40-50 | 50-80 | 80-70 70-80
{Rs. 00's)
No. of workers : 20 45 85 160 70 55 35 30
Help him.
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Smerert 8N 2867, 2587 W, 2152 SR,
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2RThEnoRsR sorryey, 320!

e —— S — s =

T3 STRELY, & VPET S8
800 700 200 600 1000
" ST PETIED S, S, S 8, S5
A 560 553 549 540 500
B 480 420 540 360 600
C 424 427 423 426 420

() ©oF Zond aNreR X,
- i) 08 sz LBFBBRTR
oCs, HF TS JRLOATOTYTT, RFAEA.
14. 8 39NT CINInRECR Mol wd dA: 4x5=20

fa) WOTH LTRNELY e woB: SR mIndd, 52 TRMAL TE, T,
26 m, YRy, B BYF ™%, 22 FInvEy, CIR ne®. urd & [P el
73,008, 8 FINY Wy, Roxd,nYd ©TT: T>Th 46%. 26% =, 28%
HImoseneRy SEODTY. B pudnys) e Dert SHOTLO ?

b} 50 HI,PESTIT 2,000 BoNEeRG, sToe: wory moed o, [IOTT KOO
seEnes 40, Fenrdainme: Wemrts wosnsd 30. Bencdedng S, HENY TR
sosnsh 45 3, F¢ FRSRADTE LIN,DFNY xoad, 20 Shg. oy, Besmod
LTR,BFN S, eraroanT 8 7

(€) by, Toedessot 37, $ee0RTH LOMT g9AE IyZp03008, R, 2,200 W3y,
o, 5.800 MY FEsOR momsbobmy Tdens $ORMUC XoLl by S9THERYL

ATV VR DR
Someonee | o 14 | 10-20 | 20-30 | 30-40 | 40-50 | Bo-60 | 80-7
( Bp. 00 NS ) ] j ~70 | 70-80
goxnmdd vod, | 20 45 8 | 160 | 70 55 35 30
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{d) A card is drawn from a pack of playing cards and then another card is drawn
without the first being replaced. What is the probability of drawing two aces ?

(e} A supervisor claims the employee A is faster than employee B. The average
time that A needs for a transaction is 60 seconds with a standard deviation of
3 seconds. The average time B needs for transaction is 65 seconds with a

standard deviation of 2 seconds. Is the supervisor right ? v

{fi A heart patient advised to undergo surgery had heard a statement that ‘every
seventh heart operation resulted in fatality’. When he went to his surgeon he
learnt that the surgeon has just completed six successful operations in a row.
He refused to become the seventh patient. How would you explain the above

statement to him to allay his fears ?
15. Answer any four of the following : 4 x5=20

(@ The following is a ple-diagram respresenting the values of exports of six

commodities A, B, C, D, E & Fin a country.

If the total value of exports is Rs. 9,600 crores, calculate the value of export
of the commodities A, B, C, D, E & F respectively.

{b) The following table gives the number of runs scored by two batsmen A and B

in the last five matches :

y
Batsmen Number of Runs

A 40 50 60 40 50

B 100 120 5 5 10

Which batsman would you prefer for inclusion in the team for the next i
match ? :
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8 BN SRIPHECR T, w00 4x5=20

@ w00 DeBBER A, B, C. D, Es3), Faow ¢ mas e gy deney BBROTE
%,80,0e0 ( Pie-diagram ) &3, gont dand

C

Og, SRRUE iy, 138 8R. 9,600 dewinvead, A B G D, E w3, Fa=,n¢ o5,
TRAT WSndRy, REn OE SRk

(b} #¢0 2 TOTAYE, w0 W, WIENTRT A 3y, Briws nean Lunvmy 9N
B o0 JecdRRAR:

23, T s.einet Koal
A 40 50 60 40 50
B 100 120 5 5 10

R LT3 IR R, ResY) S00lE 0B, 3, InTadeg L WOLATLD ?
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(¢} In a city, three daily newspapers A, B and C are published. 42% of the people
in the city read A ;| 51% read B ; 68% read C ; 30% read A and B : 28% read
Band C; 36% read A and C ; 8% do not read any of these newspapers. Find
the percentage of persons who read all the three papers.

(d) The probability that a contractor will get a plumbing contract is % . and the
probability that he will not get an electric contract is g . If the probability of
getting at least one contract 153 . what is the probability that he will get both

the contracts ?

{(e) A bag contains 6 white, 4 red and 10 black balls. Two balls are drawn at
random. Find the probability that they will both be black,

(ft What is the probability thal a leap year, selected at random will contain
53 sundays ?
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GENERAL STUDIES
Paper II
Titnee - Hoeaes | { Maximum Marks : 300
INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified ( English or
Kannada ) in the Admisston Ticket issued to you, which must be
stated clearly on the cover of the answer-book in the space
provided for this purpose. No credit will be given for the answers
written in a medium other than that specified in the Admission

Ticket.
Candidates should attempt questions from all Sections.

The number of marks carried by each question is indicated at the

end of the question.

The length of the answers should not, as far as possible, exceed

the specification given at the end of each question.

SSex woudd B ew,0d RAUINY LB TATOSTIR & T Sy ek [UBD,
ewlapdoptylat
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SECTION - A
Note . i} Answer the following questions in about 200 words each.

i} Each question carries 20 marks.

|.  Explain the urgency and areas of electoral reform. 20
OR N
Criticatly examine the role played by Mrs. Indira Gandhi in the history of Modern
India.
2. What is "Tehelka’ ? Give an account of its revelutions. 20
OR
Critically examine relationship between Ministers and Civil Services in India with a
special reference to Karnataka.
3. Answer any two of the following in about 100 words each : 2x 10 =20
(@ Discuss emergency powers of the President of India.
(b) Explain the process of law making by the Indian Parliament.
()  Examine the role of Governor ine Indn. ~8 [
-4, Answer any two of the following in abom 100 words each 2x 10 =20

(@ Discuss the major issues that influenced the outcome of the last Assembly
Elections in Karnataka.

(1)  Critically analyse the Union Budget for the Year 2002-2003.

(¢} Evaluate admiristrative relations between the Union and States.

Write short notes on any four of the following in 50 words each : 4 xH =20
(] The Missiles developed by the Indian Scientists

) MOTA

1) Lweferendum in Pakistan

[h National Water Policy, 2002

[+ lourist Centres of Karnataka

1t slida,
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Toussdniso: 1) 8 dvne I8 et Bacioowdn, HHTRO: 200 sIonvd, w03 ba.
)y =& ZZ 20 wosne,
1. ORI X0w0DE Xndend 93,538,33 w3, 3desnya, 03 LT0A. 20
ZIaThE:
SEONE UBE METRATY), G R0OTUTICOCITD: TLAT, BT yotevit e B v
Jodeda,
2. 33y codded 7 wng muTonsdonm;, 8108 Lo Srrd Rea. 20

, BT
BTOFLIEE, TowoDAT L0, FEOMAYL0LN (RUSBE T e T, ende 2eny RO
Wil HFTUE I, BTah Bodeda.
3. 9 S9NT cIRTYE0R Sod TR 100 BHNYY, wud oA 2 x 10 =20
(@) RT3 OWF@mEAL HF VHTONY, B0 uir A,
(b 3eTaecd 200 Fhorilon FeRen: @g&bc&:&q =R ( Process of law making ) @ T
A ST0A.
o
4. 8 E9NT ANGTRT0e S, TR 100 JERYE. &0 04: 2 x 10 =20
(1) BRFRBTO T g0 LEvITL RNy ZOToBE, Fs 2oz @ wesny wi,
28LIF R,
(b}  2002-2003 e ma@em geofyecs: Swone B33 ( Union Budget ) wr LEiEnEE EimA
TJodeds,

(e} eoms, T3y, Tozs, MY BRMOT SHVTY, § KoLopneay TILN, 087 TRA.

(e} TOCEnd. Ui meed SEETy S0,
e

3. 8 BYAT et el Gecdeonta, IR 50 BENYD, OPs wFHHINYTy, Wb:

4 x5=20

(a}  ereddec: Loty JRITRAE § @einy:
(b} POTA
e} THmITE N Frnapamed TonE
{d) cnﬁlecdo We ey, 2002
(e}  FTFLEE FEex deor e
th  ewof-#adn { Al-Qaida )
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SECTION - B

Note: 1) Answer the following questions in about 200 words each.

ii}  Each question carries 20 marks.

6.  “Indian economy during the new economic policy regime appears to have helped too g
few at the cost of very many.” Examine the statement with special reference to
Karnataka. 20

OR

Analyse the relative importance of domestic investinent and foreign investment in
Indian economic development during the 1990's.

7. Explain' the implementation of land reforms in Karnataka beginning with the Jatti
Committee recommendations. 20

OR

Why is World Trade Organisation ( W.T.O. )} considered inappropriate to the needs
of countries like India ? Do you think India can quit W.T.O. at this stage ?

8.  Give an account of cropping pattemn in Kamataka. 20
OR -
Write an essay on geo-political importance of Kashmir.
9.  Write short notes on any four of the following : 4x5=20
(a} Almatti controversy
(bl Lakhdawala Fermula
(c) First National Human Development Report.
{d} National Treatment and International Treatment under W.T.O.
{e} Significance of Malnadu Region
()  Gadgil formula.
10. Write short notes on any four of the following : 4 x5 =20
{a) Bangalore-Mysore corridor
(b) Konkan Railway
(c} Development of biotechnology in Karnataka
(d) INSAT
(e) Chipko movement

() Drought prone areas in Karnataka.
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S - W
mousdniey: 1) B $9NS ZB,n0R Zecdeodies, MERC: 200 BINTQ, LOBOA.
i) s JB 1 20 wosneb.

6. ‘Ba% &HFE 20D I OVGLITEE, LoD BHFEFD $3,08 JFPOTE IYTE, ©8 Y,
Imod Beodmod Mecsoam.’ STerted, xowopan OBemdolochrt B meedodIy
BOReDA. 20

Carary
1990 U Sebow dedeod @md, Hriedeod BrRENY KowoH3 WWD,I0Ty, HF tdk.

7. STrLERG. 5d, KON dTUCTYNYAOLN THO0PAT PRRGTRNG 0rRPRANEchT, Luer
Cis3DX, 20

i atap
1903 BeBmod, teBny enE,sEnNer GXZouTIO> HY, To,Td XoB o ( W.T.O. ) Jert
SRTOWAT ? B8} 0D 0E dedR W.T.0. 65 1 Tyrionsy epamyoizaoe ?
8. soorusnd g& dpednt wil womd HIcH Sek. 20.
Ll
mod, €00 ti-Catsteody Tymn,dob e 2,000 FoE B0
9. & SYNT CIRFTCCR Fevl, OF0 LF s wocl: 4x5=20
@ womi, mmO

(b) & TIo BT
(€ Rt oojeod BRRTRTHR, OO

(d) oD RoR,FEed A, W.T.0. BREIT BOBTUWCH R0wFHIC

fe) ST Jedw T,
) mBoT xRS

10 8 39NT SRITRE0L MOE, OO L ed 1o0w0: 4x5=20
(@) worisaty — A Fenme ( Corridor )
(b) Brodm T,

() BTrussd ¥OE-Z03EI0D sRJ,
() =apes€ (INSAT)

(e) aalp, WO

() BTFLERG § Tl dend T
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SECTION -C

11, Discuss the National Health Programme activities, 20
OR

Specify the programmes implemented by Science & Technology towards socio-
economic development.

12. Discuss the current scenario of biotechnology in India. 20
OR
Discuss rain water harvesting. Describe its relevance in Indian context.
13. Answer any two of the following in 100 words each : 2x10=20
{a) Give an account of the importance of Western Ghats
(b} Discuss Anthrax as a weapon of bioterrorism.
(c) Discuss the importance of Internet and the services rendered through it.
14.  Write short notes on any four of the following in about 50 words each: 4 x 5 = 20
(a) Greenhouse effect
(b} LASER
{(c) Intellectual Property Rights
{d) B, Cotton controversy in Karnataka
{e) Animal cloning
{fi, ' Mite problem.
5. Write short notes on any four of the following in about 50 words each : 4 x 5 = 20
(a)  Acid rain
(b} AIDS
(c) Fluorosis
{d CNG
(e} Computer virus

(f} Kyatanur Forest Disease ( KFD ).
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7 DD
anzn - &
TRl TR, FACHFGENTS 4hSRIENRY L7l IR 20
L E TN

2g-sf s Sl o ToLoETE.  DiRE 3y,  FeESINg 230neYAn

33 et WUEA. 20
WET

S5¢ DEOF TROIMYRY, LUFk. 00D B, TBTG F00 XI0RAIETY, SE0A.

& 8RR CERTEITCA Sl XTERC 100 TWAYEO, 03 DA 2x 10 =20

(@) Ty PRy YD, don Wi, 2000 HTOR (i,

L) 08 Podermnudod wRwen YOTYT, 803 tiide A

(0 wsosmeed (Internet ) TRRRH,3 $3;, $T0 Topwe S3dcing Restnively, WuraA.

& SYRIRYNYE), SRFTEoL T8, Taclonss, TomRC: KO Soned, o B wiclb:
4 x5 =20
(@) R Iome ( Greenhouse effect )

{h  LASER

() 8 e, TELTES

(i} SReRsadR B, st HoB
(¢) w44 0T ( Animal! cloning }
n =ondrert 138, ( Mite problem )

& SERTIIVE. IRTITNEOR S8, TBOLR0TER, KT 50 FANUY, OO W WO

4x b =20
(@) e323.3%¢ (Acid rain)
b) 03T, y { AIDS )
) Spoerm®
{dd CNG
(e} goFH WBO* ,0x%°
() o,3eec 0, 73,8 (KFD ).
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